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SECTION - A
i} General Awareness

1. The power to appoint members of the 6. Who was the first recipient of Nehru
Union Public Service Commission Award for International Understanding 7
rests with the (A)  Martin Luther King
(A) President (B) Mother Teresa
{B} Prime Minisier {C} U. Thant
(C) Parliament | (D) Dr. Jonas Salk
(D)  Ministers for Home Affairs
s e 7. Who is the first Indian sports-person
2 bigns ?mlﬂﬂﬁ PytHe S Teasnes the towin an individual Gold medal in the
Sednn Olympic Games ?
(A) 1 second ymp o
(B) 10 seconds (A) L?ander Paes
I:C} 13 seconds {E} ‘u’uer‘:der !{?Lmar
o {D} Mone of these {C} Abhinav Bindra
(D) Vikram Rathore
3. ‘Malt', a stage of grains during beer
formation refers to the 8. Who among the [ollowing was a
(A) Gegminated wet grain contemporary of Gautam Buddha 7
(B) Dry grain (A) Nagarjuna
(C} Mashed grain (B) Kanishka
(D) Powered grain (C) Kautilya
4. \Which is used as a magnifying glass ? (D) Mahavir
{g} Elane m|rr0.r 9, The idea of including the Emergency
(8) CGHCWE‘, mlr]rr:rr provisions in the Constitution of India
{g} D?nverrgm'i:; 2 has been borrowed from the
(B Biverginglens {A) Constitution of Canada
5. The 'Red Data Book’ containing (B) Weimar Constitution of
! information on all wild plants and Germany
| animals in danger of extinction has (C} Constitution of Ireland
| been published by which one of the (D) Constitution of the USA
' following 7
| (A) Internajional lUnion for 10. Whowrote the line: ‘A thing of beauty
Conservation of Nature and o o
joy for ever’ %
Matural Resources e
(B) World Wildlife Fund &) PuiB.Shelley
(C) World Consérvation Union (B) William Wordsworth
| (D) United Nations Environment (C) John Keats
| Programme (D) Robert Browning .
B




11

12.

13

14,

15.

The classical dance form Kath
originated in which Indian State 7

(A) Orissa

(B) Tamil Nadu
(C) West Bengal
(D) Kerala

In India, how many States are
coasiline ?

(A) 7
B) 8
C) 9
(D) 10

4
Who was the First Speaker of
Independent India’s Lok Sabha ?

(A) G.V.Mavalankar
(B) Rabi Ray

{C} Hukam Singh
(D) Bali Ram Bhagat

Who presented the first Union Budget

of Independent India ?

(A) Rajendra Prasad — 1949

(B) John Mathai— 1950

(C) R. K. Shanmukham Chetty —
1947

(D) C.D. Deshmukh — 1852

The capital of Austria is
(A) Canberra

(B) Vienna

(C) Jakarta

(D) Tokyo

16.

17.

18.

19.

20.

JDD-13/ASTP/X-14

in which one of the following
Ministries the census organization
has been functioning on a permanent
footing since 1961 7

(A) Health and Family Welfare

(B) Home Affairs

(C) Social Justice and Empowerment
() Human Resource Development

Which one of the following is the largest

Committee of the Parliament ?

(A) The Public Accounts Committee

(B) The Estimates Committee

(C) The Committee on Public
Undertakings

(D) The Committee on Petitions

The plant dye Henna imparts
orange-red colour to skin and hairs
due to its reaction with which of the

following 7

(A) Proteins and amino-acids
(B) Lipids

(C) Carbohydrates

(D) Nucleic acids

Which of the following is associated

with the manufacture of guided

missiles ?

(A) Bharal Earth Movers Limited

(B} Bharal Dynamics Limited

(C} Hindustan  Aeronautics
Limited

(D) Bharat Electronics Limited

The French Revolution gave its
modern meaning to the term

(A) Nation

(B) Sovereignty

(C) Republic

(D) Capitalism
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21.

22,

23.

24.

25.

A=
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ii) General Intelligence and Reasoning Ability

Complete the series :
11,12, 17,18, 23,24, ...
(A) 30

_(B) 35
(Cy 12
(D) None of these

Supply the missing figure :
3.11,816,13, .18
(A) 15
(B) 17
(C) 14
(D) 21

Usha & twice as old as Rita. Three
years ago she was three times as old
as Rita. How old is Usha now 7

(A) 7years

(B) Byears

(C) Byears

(D) 12 years

If a year starts and ends with Monday,
then how many Mondays are there in
that year ¥

(A) 52

(B) 53

(C) 51

(D) 50

I HKUJ means FISH, what does
UVCD mean ?

(A) STAR
(B) STAK
(C) STAL
(D) STAB

26.

27.

28.

23

30.

The Twenty-First Century will start
onJanuary 1 in the year

(A) 2001

(B) 2000
(C) 2107
(D} 2011

In a certain system of coding, the
word STATEMENT is written as
TNEMETATS. In the same system of
coding, what should be the code for
POLITICAL ?

(A) OPILITACL

(B) LCATILIOP

(C) LCATPOIL

(D} LACITILOP

Find the number which is wrong in the
serjes.

(A) 143
(B) 165
(C) 186
(D) 209

Four of the following numbers are alike
in some way. Which one s not 7
1£€,29,21,23,13

(A) 23

(B) 13

(C) 21

(D} 29

If '_JO_E.JE' means 'INDIA" then
‘BSNZ means

(A) BASF

{B) ARMY

(C) KARL

(D) KTOA
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, 31. If ‘APPEAR' is coded as ‘PAEPRA’ 36. Sun, Earth, Mars
| '‘PROVIDENCE' can be coded as (A} Stars
(A} PORIVEDCNE

B) Maon
(B) RPOVPINECE (
“(C) RPVODINEEC (C) Solar System
ﬁ (D) EORIVEDCEP (D) Sky
32. 36istodas9isto 37. Gazelle is to Swift as Swan is to l
(A) 27 (A) Slow
B) 1 (B) Water
i ©) Egg

(D) Graceful

33. Insertthe missing letter : I

AD Oy 38. Todayis Saturday. What day of the |
L week will be after 27 days ? |

() M (A) Monday

{{3 E (B) Friday

(D) F (G} Wednesday

(D) Saturday

34. Find the wrong number in the series :

1; 2, 8101728 39, Woodman: Axe::

(A) 2 | |
(B) 10 (A) Draftsman : Ruler 3
(C) 28 (B) Painter : Brush

(D) 1

(C) Carpenter: Saw

35. Choose the correct alternative from (D) Soldier : Gun

the given anes that will complete the

series. 40. Cobra is to Snake as Crocodile is to
&'3; Eh':l;'L:—ﬂT (A) Marsh

(B) LN (B) River )

(©) MN (C) Carnivore

(D) CT (P) Reptile
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e iii) Arithmetical and Numerical Ability
I f 41. (24+x) =(4+5)implies that x equalsto 47. How many arrangements of three
| |13 (A) 30 types of flowers are there if there are
) (B) 20 6 types to choose from ?
(C) 48 (A) 18
N - (D) 98 (B) 729
. (C) 216
42, (5+13) = (x+78) implies thatx equals to (D) 120
(A) 30
B) 18 _ i
EC; 60 48. 8 +(625) x 50 +V(256) =7
(D) & " 9
B) 1
2
43. 30is 20% of ©)
A 6 (D) 40
(B) 150
(C) M40 49, (B25)2—(375)2="7
(D) 180 (A) 25000
(B) 2500
44. (49) =\(0.49) = (C) 250
A) 1 (D) 250000
(B) 10
(Cy 100 50. The area of a rhombus is 144 cm?.
(D) 122 One of its diagonal is twice the other.
The length of the shorter diagonal is
A) 24
45. 0.0B=x8x35+4+7.1= EB; 12
(A) 6.784 ©) 36
(B) 12.612
. D) 48
(C) 14.317 ©)
(D) 9.34

51. The sum of a two digit number and its
reverse is equal to 99. How many

46. (12321)=7 such two digit numbers are there ?

() 221 (A) 10
(B) 211 o 8
(C) 121 ©) & :

@) 111 D) 8




52. Ajith writes first 100 whole numbers.
How many times does he write zero 7
(A) 10
(B) 9
(C) 11
(D) 12

53. The average of five consecutive odd
numbers is 1. What is the difference
between the highest and the lowest
number ?

(A) 2
B) 8
C

©) &
(D) 7

54. 280 oranges are divided among 50
girls and boys so that each boy gets
5 oranges and each girl gets
7 oranges. How many boys are there ?
(A) 35
(B) 15
(C) 30
(D) 25

55. On the last day of college, students
exchanged autographs. A total of 870
autographs were exchanged. How
many students were there in the
college ?

(A) 40
(B) 30
(C) 48

(D) 50

56.

57.

58.

59.

80.

JDD-13/ASTP/X-++

9278 — 7 = 5318
(A) 2580
(B) 3160
(C) 3960
(D) 2960

Three consecutive positive even -
numbers are such that thrice the first
number exceeds double the third by 2.
What is the third number ?

(A) 6

(B) 8

(C) 12

(D) 14

7416+ 18="7
(A) 124
(B) 412
(C) 402
(D) 214

405 +307 x4 =7
(A) 1603
(B) 1633
(C) 1630

(D) 2848

3207 -976—1781=7
(A) 2241
(B) 4012
(C) 442
(D) 450
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iv) Test of Language : Hindi
61. Sl 64. TR FATR|
§ (A B (a)
(B) e (B) T
() #= (©) e
(D) sfesT (D) T
oo, g 5 T 4
(A) Hveeh () gg T
() sﬁuﬁ (C) :c’i'iiﬁinEI]
D) (D) ferferrren
u
63. e I = Fe 3 | 6. W_______®I
(A) =TT
(A) a8
(B) wE@E
B) ==
(C) TeTerd
C) x4
) D) 3
(D) 6% o) s
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67. sreiufy ¥ Rroad we 3 71 SRR T WA 1T 7
(A) FiEm A
i T (B) W
(C) fiffan (&) Tt
(D) Tiema R 1
o B et 72, R wgE T v ol
(A) IS
(A) gEard
(B) ==
(B) z=r4
(C) &t
© T
(D) %=
(D) o1
73, o ey et #
89. iFt i B
(A) o, am, 7w
A
) Q\F B) =T, i, &%
B) Hm
(B) (©) e, 7, vl
(C) e (D) SR, T, YA
(D) e r
74, TrefaRed 3 3w veg oy & ored 1
70.  germaelt = aee e 2 TEIE |
(A) e (A) =
(B) & (B) iy
(C) #Her (C) &=
(D) A (D) |
Ax 17

-

B e )
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75, ‘ut % fore s wataarh AET # |

76. I S0 SeTdl

77. et % T Y e FTE
(A) FE
(B) F=
(C) TSN

(D) et
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78.

80.

JDD-1 mnswm_b‘j

e 7758 o fRiaede ¥ee B |
(A) STEH

(B) HEHEH

€ =

(D) HAH

TEETR

(A) e} S
(B) g =7 G |
(C) TS A9 @l |

(D) TTEH A TH |
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81.

82.

83.
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v) Test of Language : English

AT OTEToT @ ST
She played soft sweet 84. | was walking alengGandhi
music. street, | saw some lovely flowers in a
shop window.
{A) studying
(A) while
(B) study
(B) when
(C) but
(C) on
(D) studied
(D) then
4 he is lll, he must take
. 85. Ishall notgo tothe party
they invite me.
(A} then
(A) when
B) aslon
(B) gas & on
C :
(C) until ©) then
(D) uptto (D) unless
| was old, Laidnotget | g6, | couldnt buy & shoe
the job. | didn't have enough money.
(A) so (A) then
(B) than {(B) because
(C) but (C) wntil .
(D) then (D} however
19
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87.

88.

83,

90.

He will help me | amin

trouble.

(A) then
(B)
(C) where

on

(D) when

You should not use a taxi

you are in hurry.
(AY till
(B) less
(C) wuriless
4

(D) for

| saw
window.

(A)

_thief opening the

(B)
(C) a
(D)

Members regretted that
govemment had not given any relief
fund.

(A) the
(B) a
() an

(D) for

L

o1.

92.

93.

JDD-1 3IASTPIK-V"2

A boat down with all the
passenger on board.

(A) sunk
(B) sinks
(C) sank
(D) sinking
The same song for two times.
(A) singing

(B) sung

(C) singed

(D) sings

When | reached the station the train

(A) leaves
(B) had left
C) left
(D) leave
Meena
(A) wanted

(B)
(C)

D)

to go with her friends.

wanting
wants

is wanted 2
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95.

96.

a97.

I him very well.

(A) known

(B) knows
(C) know

knowing

(B)

Pushpa talks a lot |, doesn't she 7 yes,

although there is no reason for

4

(A) somuch her talking

(B) her so much talking
(C) her talking so much

(D) talking her so much

Why 1s Mohan so late 7 | do not know
be.

(A) what can the reason

(B) can what the reason
(C) what the reason

(D) what the reason can

-21-

g8.

99.

100.

JDD-13/ASTP/X-14

Did he get a new shirl ? yes |, he

bought one.

(A) himself
(B) him
for himself

(©)

(D) his

| trouble with my bicycle

these days.

(A) have been experiencing
(B) experience
(C) had been experiencing

(D) experienced

| alie if | ever said that I

| liked you .

(A) was telling

(B) have been telling

(C) would have been telling

(D) would have told

rl
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SECTION - B ‘
Post Specific Subject-Related Questions

2tr i
bk i

101, In your class you find that some 104, Inwhich stage is the Physical growth
student cannot understand a topic is rapid ?

. because of the wide gap in their

previous knowledge. What would

=

(A) Early childhood

you do 7 (B) Infancy
(A) Arrange extra classes to heip (C) Adolescence |
them

D} School age
(B) Ask the parents to arrange { ¢

help at home
(C) Continue with your classes 105. The psychologist who defined moral
(D) Seek Principal's help development
(A) Pavlov
102. A s;:’bup of young children have _{B) MeDougall
become inattentive in the class. (C) Piaget

Which of the following strategies is
more appropriate to regain their
attention ?

(D) None of the above

(%) Abrief physical achvity 106, The first teacher of a child is

B nding the class for that N
(B) Suspending @ ' (A} Pre primary school teacher

period

(©) Asking children to be attentive (k). Fareols

(D) Sending the class out for {C) ‘Saciety
games (D) School teacher

103. Raj is extremely unwilling to share 107. A teacher should have
and prefers solitary activity, This

indicates that he is (A) Knowledge of his subject
(A) a popular child (B) Knowledge of teaching
methods

(B) a rejected child
(C} Knowledge of students

(C) a jealous child
(D) a happy child (D) All the above




Eownload From -

T

www.allgovtjobsindia.in

b

108,

109.

110.

TTT

Which of the following is a centre
point of a lesson ptan 7

(A) Principal

(B) Teacher

(C) Student

(D} None of the above

Thig is an instructional material for a
teacher

(A) Workbooks
(B) Supplementary material
(C) Atlas

(D) Curriculum guides
“

Which of the following period is
generally termed as “the period of
conflicts” in one’s developmental
stage 7
(A) Infancy
(B) Childhood
(C) Adolescence

)

(D) Adulthood

What is the aim of group activity in

classroom teaching ?

(A} To reduce the workload of the
teacher

(B) To make most children
participate in learning

(C) To clarify the concepls
effectively

(D) To provide freedom to
students

112.

113.

114.

115.

Which principle states that ‘Best
learning takes place when the teacher
is successful in arousing the interest
of a student’ ? '

(A} Principle of motivation

(B) 'Principle of stimulation
(C) Principle of goal setting
(D) Principle of association

Which of the following may be the

LEAST APPROPRIATE activity to

start a day in school 7

(A) Quiz

(B) Assemble

(C) Giving homework
(D) Physical training

Seven years old studentis unable 1o

read as per the class level. The

teacher should

(A) Give him reading exercise of
 a lower level

(B) Informthe parents

(C) Detain him in the same class

(D) Tryto find out the cause with
expert help

Which of the following statements is
not correct about development 7

(A) Each phase of the
development has hazards

(B) Developmentisnotaided by
stimulation

(C) Development is affected by
cultural changes

(D) Eachphase of the development
has characteristic behaviour

2]

JDD-13/ASTP/X-1}1
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116.

117.

118.

119.

Ax

Heredity is considered as a social
structure.

(A)
(B)
(C) Dynamic
(D) Stiatic

Primary
Secondary

Which of the following development

tasks is not appropriate to the |ate

childhood 7

(A) Learning physical skills

necessary for ordinary games

(B) Achieving a masculine or
feminine social role

{.C]" Achieving
independence

personal

(D) Learning to get along with
age-mates

Which is the most unreliable predictor
of the level of a child's educational
achievement 7

(A)
(B)

(C)
()

Background of the parents
Class behaviour
Socio economic status

Height and weight of child

Which of the following is not the
characteristic of early childhood 7

(A) Pre-gang age
(B) Imitative age

(C) Questioning age
(D) Play age

120.

121,

122.

JDD-13/ASTP/X-{j}

TLM should be used to
(A)
(B)
(C)
(D)

Make teaching more useful
Make teaching impressive
Provide concrete examples

Facilitate learning

In evaluating the significance of the
research problem, an important social
consideration is

(A} The genuine interest of the
researcher in the problem

(B) Practical value of the findings
to educationists, parents and

social workers, etc.

(C) MNecessary skills, abilities and
background of knowledge of

the researcher

(D) Possibility of obtaining
reliable and valid data by the

researchers

What is the aim of educational
research 7

(A) Identifying major problems
that need to be solved
Searching for the new facts
and principles underlying the
process of education

(B)

(C) ldentifying the aims of

education

Identifying the values that
need to be inculcated in the
pupils

(D)
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123.

124.

125.

126.

Projective technique is used for
measuring

(A)

Individual's need for self-
actualization

inventoried

(B) Individual’s

interests

Individual's  dominant
feelings, emotions, conflicts,
needs which are, generally,
repressed by the individual
and are stored up in the
unconscious mind

(C)

(D) Individual's value-system

What is the meaning of Data 7
(A) ¥acts

(B) Truths

(C) Observation

(D) Marks obtained

Which of the following does not belong
to the group of the other three 7

(A) Logical validity

(B) Construct validity
(C)
(D) Curricular validity

Sampling validity

Which technigues are most used in
Educational Research 7

(A) Questionnaire
(B) Interview

(C) Observation
(D) Sociometry

128.

129.

{C)

JDD-13/ASTP/X-14)

127. What does Descriptive Research

include according to Van Dalen ?
(A)
(B)

Survey studies
Inter-relationship studies:
Developmental studies

(D) All of these

To which are the concepts of internal
external criticisms associated ?

(A)

Validity of experimental
designs of research

(B)
(C)
(D)

Descriptive research
Historical research

Literary research

Which of the following is not an
advantage of non-parametric
statistical tests 7

(A) They can be used when data
are in the forms of ranks or
categories

(B) They canbe used in situations

where parametric tests are

applicable

(C) They yield statements of exact
probabilities irrespective of
the shape of the population
distribution

(D) They are less powerful than

the parametric tests
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130.

131.

132.

133,

A

What type of statistical data are used
in educational research 7

(A)
-(B)
(C)
D)

Descriptive statistical analysis
Inferential statistical analysis
Both of them

None of these

When the guestions are presented to
the respondents in a face-to-face
‘situation, and the interviewer rather
than the subjects, fills out the query,
it is called

(A)
(B) AQuestionnaire
(C) A Schedule
(D) A Test

An Inventory

An assessment s if it
consisterntly achieves the same
results with the same students.

(A) Valid

(B) Invalid

(C) Reliable
(D) Unreliable.

A/AN assessmentis one
which measures what it is intended
to measure.

(A) Valid

(B) Invalid

(C) Reliable
(D) Unreliable

134.

135.

138.

187.

JDD-13/ASTP/X-14’

The use of technology to enhance
learning process s called
in education.

(A) IT
(B) ICT
(C)

(D) Communication technology

Information technology

Which philosopher gave the idea that
education should be based on the
principles of human development 7

(A)
(B)
(©)
(D)

Dewey
Watson
Rousseau
Thorndike

Who introduced the theory of
empiricism 7

(A) D.J. ©'Connor

(B) John Dewey

{ﬁ} William James

(D) John Locke

Who gave the Totality Conscious
ldeas 7

(A) Jean Piaget

(B) Herbert Spencer

(C) Hill Gard -
(D) Woodworth
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{ ' 138. Which educator presents “Law of 142. Successtul educational practices
;| | Reediness, Law of Exercise and Law evolve from the application of
i of Effect” 7 methods.
LG (A) Hill Gard (A) Analog
B (B) Thorndike (B} Scientific
- (C) Spencer (C) Virtual
(D) Rousseau (D) Technical

139, Who said that "These situations are
mental evolutions that are aspects of
conflict and anxiety™ 7

143, By Genetic method of studying
human development can be utilized

(A) Horizontal

(A) Hill Gard

(B) Watson (B) Vertical

(C) Jean Piaget (C) Both horizental and vertical
&

(D) Ralph Tyler (D) None of these

140, Formal education or school training 144, Teacher are closely associated with

represent the_ process.
(A Learner programs of study (A) Study
(B) Planned programs of study (B) Learning

| (C) Collective programs of study (C) Ewvaluation

| (D) Basic programs of study (D) Observing

141. At the end of 19" century, which 145,
philosepher formulated laws of
learning as a result of his experiments

The teacher can provide the kind of
stimulation to enable the child to

Sith ARimEls become learner,
(A) Hill Gard A) Quanty

(B) Watson (B) Social

(C) Edward Thorndike {*_GJ Interesting

(D) John Dewey (D) Active -
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(tH] 146. Children should be given an | 150. Atthe time of partition in 1947, there

| opportunityto____the democraic were colleges in working.
| way of life in school. o %
(A) Leamn
B (B) Experience (B) 45
(C) Understand (C) 50
(D) Knowing (D) 55

147. In 1974 University Grants | 459  Atthe time of partition in 1947, there
Commission was astablished in

were universities in working.
(A) Peshawar (A) 5
(B) Karachi (B) 4
) Ldnore (C) 3
(D) Islamabad D) 2

148. The University Grants Commission

teachers of in case of Federal Universities.
(A) Degree Colleges (A) Administrator
(B} Universities (B) Chancellor
(C) Both Degree Colleges and
Universities (C) Rector
(D) Schools (D) Incharge

149. In the organization of the school the | 153. A successful practice is the real test
basic determining factor is the of achievement.
of the school.

(A) Curriculum (A) Teacher

(B) Management (B) Principal

(C) Social life (C) Learning .
(D) Trainers (D) Evaluation
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154. It is openly observed that | 158. Atthe time of patitionin 1947, there
involves much more were primary schools in
than measurement. working.
(A) Govemment (A) 8413
- (B) Environment (B) 9256
(©) Learning Ea Jaer
(D) Evaluation (Dy: “6857
S 159, An attitude of fair-minded
T e s appreciation of its value can be
of evaluation. obtained through a consideration of
(A) Basic mental
(B) Primary (A) Evaluation
(C) @ptional (B) Behavior
@) Individual (C) Measurement
(D) Consideration
156. Which city of Pakistan is called "City _ } )
of Colleges” ? 160. The first Binet-Simon test appeared
with revisions in 1908 and
(A) Peshawar
(B) Karachi (A) 1911
(C) Lahore (B) 1912
(D) Islamabad (C) 1913
(D) 1914
157. Reciting of the national anthem made
compulsory in high schools in 161. In America during World War | , the
testing of the intelligence of
(A) May,09, 1957 individuals began in
(B) June,09, 1957 (4. | Experenc
: (B) As awhole
(C) July,08, 1957 (C) Combinations =
(D) August,09, 1857 (D) Groups
Ax -36-

———

e —




SR

OVWHAHOGEG=Fe R —=2A8A0N J1TCION YOS

162. Article 45 under the Directive
Principles of State Policy in the Indian
Constitution, provides for

163.

164.

(A)

(B)
(C)

(D)

Rights of minorities to
astablish educational
institutions

Free and compulsory primary
education

Education for weaker sections
of the country

Giving financial assistance to
less advanced states

The 1968 national policy teacher
educatton adopted by the Indian
Government laid stress on the
following aspects of teacher's
education

(A)

(B)

(©)

(D)

Adequate emoluments and
academic freedom for
teachers

Travel allowance and family
pensions for teachers

In-service training and
correspondence education for
teachers

Promotion and retirement
facilities for teachers

Rama Krishna Mission was founded by

(A)
(B)
(C)
(D)

Swami Dayanand
Swarmni Vivekanand
Raja Ram Mohan Roy
Guru Nanak Dev

165,

1686.

167,

168.

JDD-13/ASTP/X-t.

Who formed Brahmo Samaj 7
(A)  Guru Nanak

(B) Kabir

(C) Ramanand

(D) Raja Ram Mchan Roy

Arya Samaj was founded by

(A) Raja Ram Mohan Roy

(B) Swami Dayanand Saraswatl
(C) Swami Satyanand

(D) Kabir

Intellectual aim in education was
emphasised in

(A) India

(B) Greek
(C) Spara
(D) Athenian

What is not the reason underlying the

importance of research in education ?

(A) Itis atool for verifying, testing
and validating knowledge

(B) Itis a potent means of creating
new knowledge

(C) It has moved to the centre of
the bahavioural sciences

(D) It provides answers 40 many
problems faced by educators
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169.

170.

171.

172,
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Mean deviation equals 173. Which of the following is the most
le average ?
A 1/3s unstable ?‘u’i.. rage
{A) Median
(B) 4/5s . ;
: (B) Arithmetic mean
(C) 1/5Q.D. ———
(5 =l (D) Geometric mean
What can Statistics do 7 174, The average weight of a group of 25

(A) Prove anything boys was calculated to be 78.4 |bs.
' It was |ater discovered that the
weight of one boy was misread as
(C) Neither prove nor disprove 69 Ibs instead of 96 Ib. The correct

anything-is just a tool average is

(B) Disprove anything

(D) Negne of these (A) 78.48
(B) 79.00

. (C) 79.48

What is the reliability of Primary data ? (D} S

(A) Always more reliable
compared to secondary data

175. The mean age of 40 students is
18 years and the mean age of ancther
group of 80 students is 20 years. The

(C) Depends on the care with mean age of all the 100 students is.

which data have been (A) 1B.8years
collected (B) 18 years

(C) 18.4years
(D) 18.8years

(B) Less reliable compared to
secondary data

(D) Depends on the agency
collecting the data

ich of the following are positional
h QRS 5 176. The difference between a personality

averages 7 inventory and an intelligence test is
(A) Arithmetic mean (A) Oflength

(B) Median (B) Ofstyle

(C) Geometric mean (C) Ofright and wrong answers
(D} Harmonic mean (D) Of foreign make
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i 177. When a researcher conducts an

I experiment he or she wants to be sure
that any differences between the
control and experiment groups are
due to

(A)  The hypothesis

(B} The
manipulation

experimental

(C) Differences among the

subjects

(D) The operﬁtianal definition

178. By subtracting the lowest score from

the highest score, researchers are
able%o determine the

(A
(B)
(C)
(D)

Median score

Mode

Range of scores
Standard deviations

179. Most of the beginners in research

suffer from
(A)
(B)
(C)

Problem blindness
Too many problems

Lack of training to tend a
problem

= (0) None of these

180. A research hypothesis is generally
converted into Null hypothesis.

(A) ltis safer

(B) Itcannotbe tested statistically
(C) Itis a general statement

(D) ltis avague statement

42-

181.

182.

183.

184.

:
JDD-13/ASTP/X-14.

At primary level, it is better to teach in
mother language because

(A) it develops self-confidence in
children

(B) it makes learning easy

(C) it is helpful in intellectual
development

(D) it helps children in leaming in

natural atmosphere

What is most important while writing
on blackboard ?

(A)
(B)
(C)
(D)

Good writing

Clarity in writing
Writing in big letters
Writing in small letters

It is advantage of giving home work
that students

(A)
(B)
(C)

remain busy at home
study at home

may be checked for their
progress

(D)

may develop habit of self study

Deepawali fair is being organized in
your school, What would you like to
do ?
(A)
(B)
(C)

only to visit the fair

to take part in function

to take a shop to sell
something

(D) todistribute free water to visitors



185.

186,

187.

188.

If you are unable to get a job of
teacher, then you will

(A)
(B) remain at home till you get a job
(C)

(D) continue applying for teaching

starl giving tuition at home

take some another job

‘National Council of Educational
Research and Training' was
established in

(A) 1961
(B) 1962
(C) 1963%
(D) 1964

To maintain interest among students
in class, a teacher should

(A)
(B)
(C)
(B)

use blackboard
discuss
tell stories

ask guestion

Which of the following skill do you
consider most essential for a teacher 7
(A) ability to help the children
understand texts thoroughly
ability to help children do all
the exercises

ability to raise possible
actions from the texts

ability to help children from
their own opinions on the texts

(B)

(C)

(D)

189.

180,

1€l

192.

o
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What is most impaortant for a teacher 7
(A)
(B)
(C)

to maintain discipline in class
to be punctual in class

to remove difficulties of
students

(D)

to be good orator

A teacher asks the guestions in the
class to

(A)
(B)
(C)
(D)

keep students busy
maintain discipline
attract student's attention

teach

The most important indicator of quality
of education in a school is

(A} Infrastructural facilities of a

school

(B)
(©)

Classroom system

‘Text-books and Teaching-
learning material

(D) Student Achievement level

Which philosophy developed the
monitorial system in classrooms 7
(A) Vedic

(B) Vedant

(C) lIslam

(D) Buddhism
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‘ 193.

194.

195.

196.

Which part of Indian Constitution
allows ewvery citizen to impart
education as per ones own religion 7

(A)
(B}

Direclive Principles

Concurrent list of Centre and
the States

Demacratic Rights
Fundamental Rights

(©
(D)

Which of the following mobility is not
related to modemization ?

(A)
(B)
(C)
(D)

Psychic mobility
Scientific mobility
Socidd mobility
Physical mobility

"Give me a dozen of healthy children
| can make them Doctor, Judge,
Beggar and even a Thief® —
Comment made by

(A) J. B: Watson
(B) Hull

(C) Jung

(D) Guthrie

The 1Q of a 25 years old boy, whose
mental age 16 will be

(A) B4
(B) 75
(C) 80
(D) 100

46

197.

198.

199.

200.
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If a group of children leams a lot of
arithmetic skills by way of completing

a project on 'Celebration of

Deepawali festival'. This will be
known as a kind of

(A) Incidental learning
(B)
(C)
(D)

Formal learning
Informal learning

Non-formal learming

Which of the following is not a
characteristic feature of research
process ?

(A)
(B)
(C)
(D)

Empirical approach
Systematic endeavour
Uncontrolied conditions

Critical analysis

Which of the following is not correctly
matched ?

(A) Test-Retast : Stability

(B) Split-Half : Internal consistency
(C) KR-20 : Stability

(D) Parallel Form : Eguivalence

Which of the following is not a
measure of dispersion 7

(A) range

(B) mode

(C) mean deviation i

(D} standard deviation
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